
a2 b2c2 +=

EXAMPLE 1

7.2 Use the Converse of the
Pythagorean Theorem

Before

Now
Why?

Use the Pythagorean Theorem to find missing side lengths.
You will use its converse to determine if a triangle is a right triangle.
To verify right triangles and perpendicularity.

        If             is a        right triangle,       then 

KNOW:

If                      ,       then           is a right triangle. a2 b2c2 +=

7.1

Verify right triangles
Tell whether the given triangle is a right triangle.

TRY THIS:
Tell whether a triangle with the given side lengths is a right triangle.

1.   4,        and  8 2.  10, 11 and 14 3.   5, 6 and 



CLASSIFYING TRIANGLES:

The Converse of the Pythagorean Theorem is used to verify that a given 
triangle is a right triangle.  The theorems below are used to verify that a given 
triangle is                                  or acute obtuse.

EXAMPLE 2 CLASSIFY TRIANGLES.

Can segments with lengths of 4.3 ft, 5.2 ft, and 6.1 ft form a triangle?

If so, would the triangle be acute, right, or obtuse?

CATAMARAN:  You are part of a crew that is installing the mast on a catamaran.  When 
the mast is fastened properly, it is perpendicular to the trampoline deck.  How can you 
check that the mast is perpendicular using a tape measure?

EXAMPLE 2 CONVERSE OF THE PYTHAGOREAN THEOREM

TRY THIS
1.  Show that segments with lengths 3, 4 and 6 can form a triangle.

2.  Classify the triangle as acute, right, or obtuse.

3.  Could you use triangles with side lengths 2, 3, and 4 to verify    

     that you have perpendicular lines?  Explain.
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